+p™) [1/GeV]

pT

1/0 do/d(

=
o
e

1074

Ratio to ATLAS

=
<
[y

|
o
o

0.5

13000 GeV pp tt
r—r-r Tt T T T T T T T )
3
= H4 (ATLAS dileptonic ttbar) 43
— s
— -9
L i ep)
| |
o
- |
—
™
= !”'/!\‘!\ EE
— ’ N [
~ LN _
i B 1
)
AN o™
\\\ <
_ AN — ©
— 1 —Ho
- . ™M
- 2y -
— A —.=
L ?‘::\ N X
B B ATLAS S
. S~o <
--0O-- Herwig++ 2.6.1a default % O
c
. --3-- Herwig 7.2.1 default 1o
— - O
— i P
— 75
o
— - O
1 | | | | | 4+ 1 | | | | | | | | | | | |_ E
:I T T | T T T T | T T T T | T T T T |:
— -2
EEESECTEC S A ¢ 11
| —0.5
1 1 " 1 " | " 1 1 1 1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
100 200 300 400

Dilepton pi +p [GeV]



	Contents
	Page 1


